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Question No. 1

. 1
If x*+— =47, then find x+—.
X X
A) B)
9 5
C) D)
3 T

.1 ‘ 1
ofg x*+ =47,HTX+;$FHHHH%'E’I

ila

2

A) B)
9 5
C) D)
3 T
Answer Key : C Your Response : C (Correct)

Question No. 2

Equivalent resistance of resistances connected in series is the of individual resistances.

A)Difference B)Sum
C)Sum of squares D)Product

Aot a1 3 53 wiadet 1 GAged Sfaier rerer-sreer wfawf v T §1

A) 3= B) JeTdhel
C)aait T IreThel D)3[UTeTthel
Answer Key : B Your Response : B (Correct)

Question No. 3

Which element has two shells, both of which are completely filled with electrons?
AYMaanesium [ T e = e 0 4

Top



C)Neon D)Carbon

frw o @ E & SR ¥ 5 gU & w @ 82

INE:ECIRE B) 31TeTeT
C)feramer D)ehTeleT
Answer Key: C Your Response : A (Wrong)

Question No. 4
The sum of LCM and HCF of two numbers is 372, If LCM is equal to 92 times of HCF and one the numbers is
368, what is the other number?
A)360 B)4
C)92 D)96

ar ¥t F T/A(LCM) AR AFA(HCF) #7 Awr 372 §, IRk F/A(LCM), AFT(HCF) F 92 T F TR
¢ 3R wF dEar 368 &, o qEdr dEw A Hfow

A)360 B)4
C)92 D)96
Answer Key : B Your Response : Not Answered

Question No. 5
Two squares differ in areas by 32 cm?. If the difference in their sides is 4 cm, what are the sides of the two
squares?
A)6 cm, 2 cm B)12 cm, 8 cm
C)dcm,2cm D)4 cm, 4 cm

ar ot & arell T 3T 32 A2 Bl A SR S[eI3HT Fr 3 4 Qe B, o At et fr et Fr AT AT
LAy

A)6 B3, 2 e B)12 dsfr, 8 e
C)4 @I, 2 @ D)4 @, 4 @Y
Answer Key : A Your Response : A (Correct)

Question No. 6

Anemia is caused in man due to the deficiency of -

A)Vitamin A B)Folic acid

C)lron D)Vitamin B

Ao # fr T & FROT AT g §1

A)fger@a A B)Wifeleh 31F el

C)3mar=t D)fderfA= B

Answer Key : C Your Response : D (Wrong)

Question No. 7

When was the universal immunisation programme started in India ?
A)1980 B)1974
C)1985 D)1991

AR ¥ ARG ST FRA Fa YF BT IR 9 Top

A)1980 e S T A 0 8 ool W/

S PSS . et A S e TR




C)1985 D)1991

Answer Key : C Your Response : Not Answered

Question No. 8

Which number will best complete the relationship given below?
21:36:13:7?

A)22 B)23
C)24 D)20

FieT W & A RE v Heyr wr Feleasw G & qoF Fe?

21:36::13:7

A)22 B)23

C)24 D)20

Answer Key : D Your Response : Not Answered

Question No. 9
If consumption of sugar increases from 12 kg to 15 kg, then what is the percentage increase?
A)39.2% B)25%
C)20% D)33.3%

IR el fr Tua 12 Rrelens ¥ ggt 15 Rrems & ok 8, & sfoea gfe i fifsm

A)39.2% B)25%
C)20% D)33.3%
Answer Key : B Your Response : B (Correct)

Question No. 10

Who among the following took charge as the MD and CEO of ICICI Securities with effect from May 7, 20197

A)Girish Chandra B)Vijay Chandok
Chaturvedi
C)Radhakrishnan Nair D)Uday Chitale

Prfaf@a 7 & freer 7 /%, 2019 & ICICI RRIRES & MD 3R CEO & YgHR HHIAT?

A) R =g wTdeT B)fasw @&
C)RTHTFSTT AT D)3ga fder
Answer Key : B Your Response : B (Correct)

Question No. 11

Which of the following devices fitted in vehicles controls the air pollution?
A)Radiator B)Carburettor
C)Inverter D)Catalytic converter

argalt ¥ WA AT F ¥ Fler AT FIHROT A HeuOT A AT Few g2
A)f3ueT B)&Tedex

N

C)z=acT _ D303

I LB e A e e e R = e O o 2l §
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Answer Key : D

Two pipes P and Q can fill a tank in 32 minutes and 48 minutes. Both pipes are opened and after some time

Your Response : B (Wrong)

Question No. 12

pipe Q is tumed off. The tank is filled in 24 minutes. When was the pipe Q closed?

A)12 minutes
C)10 minutes

ar BT P 3R Q wF & #r 32 @Aee 3R 48 Mere F X wa §1 AWt s W R S § iR 3o www
91E 95T Q & §g F AT SIAr §1 &6 24 Aee F FX ST §1 9BT Q @ F §¢ fRar I=T 917

A)12 e
C)10 fiete

Answer Key : A

B)15 minutes
D)16 minutes

B)15 fAsc
D)16 fAsc

Your Response : Not Answered

Question No. 13

3+ 3-
1If X::{-’g_l; yz:{_g+ ,thenfind x2+y2-
A) ?
o 14
C) )
s 13
J3+1 V3-1 SAEL
x= ; VG LT x*+y® A AT I
afg v%'l J§+1’ R
A) ?
o 14
C) )
3 13

Answer Key : B

Your Response : Not Answered

Question No. 14

Which of the following is the biggest stadium in India?
A)Kalinga Stadium

C)Chinnaswamy S|IE =

W g L — W -
L S e AN RS =

B)Salt Lake Stadium
/e
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ST W FiT AT AR FT Fa 937 REIH &2
A)wfeler Tefzam
C)eeArEaray wefsad

Answer Key : B

Complete the series.

ab, ba, abc, cba, abcd, (...)
A)acbd
C)bacd

Aot # qof Ay

ab, ba, abc, cba, abcd, (..)
A)acbd
C)bacd

Answer Key : B

B)dTeT o Fi3aH
D)TRER Ycel Ti3ad

Your Response : B (Correct)

Question No. 15

B)dcba
D)cabd

B)dcba
D)cabd

Your Response : B (Correct)

Question No. 16

Find the ODD one out from the given options.

A)

C)

R a1v Reedi F & W H A

A)

B)
D)
¥\
B)
D)
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Answer Key : D Your Response : D (Correct)

Question No. 17

Find the missing group of alphabets in the following series.

ABC, EFG, IK, (...), UVW
A)OPQ B)XYZ
C)QPO D)RST

fArfaf@e Aol & srEftyfa spR-wE @ fifow

ABC, EFG, UK, (.), UYW

A)OPQ B)XYZ
C)QPO D)RST
Answer Key : A Your Response : Not Answered

Question No. 18
Which of the following is the longest river in the Peninsular region of India?
A)Cauvery B)Godavari
C)Mahanadi D)Narmada

faf@a F ¥ FiT @ ORI F IIENT a7 § Fheler qrelr Fa a9 a4y 87

A)Fdr B)aiicradr
C)#HgIeTEr D)aT#ier
Answer Key : B Your Response : A (Wrong)

Question No. 19
A cistern can be filled in 9 hours. But due to a leak, it takes one hour more. If the cistern is full, in what time
will it become empty due to the leak?
A)75 hours B)60 hours
C)30 hours D)90 hours

UF &R @ 9 §C F SRT S Tl §1 AfFeT U RAT & FRoN, 30F o wer 310 a7y oorar g1 afe &fr
T S I §, o RAE fr Fole § I§ B FAT # @elr @ sean?

A)75 & B)60 ©¢
C)30 &e D)90 e
Answer Key : D Your Response : Not Answered

Question No. 20
Which of the following elements is NOT part of proteins?
A)Sulphur B)lodine
C)Carbon D)Nitrogen

RAfaf@d & ¥ Fia a1 aca N Fr T a8 &2
A)THeHT B) 38T

C)ahTeiaT _ D)= - Top




Answer Key : B

Your Response : C (Wrong)

Question No. 21

Read the following information carefully and answer the question given below.

Seven managers— J, K, L, M, N, O and P are sitting along a circle facing the centre. J is between P and M. L
is second to the right of M and is between K and O. K is not the neighbour of N.

Which of the following is CORRECT?
A)M is second to the left of P
C)L is third to the left of J

B)J is to the immediate left of M

D)P is between J and M

i@ SEeEr #F eaer & 9§ 3R A R v e Fr 3R &)

AT WEF- J, K LM N ORPIHRAIN G R @ Fa S a3 IS § J, PIRMF da F 81
L, St M & o 3R g Ve W 8, K 3K O & & 3 81 K, N &t g3t &6t 91

AT TR
AM, P & ST & g8 T W gl
C)L, J & 90 & X TUH W gl

Answer Key : B

From the given options, find the ODD one out.

APV
C)LO

Rre T Risrest 3 ¥ T B T
APV

C)LO

Answer Key : A

Acid secretion is a characteristic of -
A)Buccal cavity

C)Stomach

3FT | #r e gl
A)AE IIgT (Buccal cavity)

C) 3R

Answer Key : C

B)J, M & §TE 3R UHGH STl & ST gl

D)P, J 3IR M & &g # gl

Your Response : B (Correct)

Question No. 22

B)TW
D)EH

Your Response : A (Correct)

Question No. 23

B)Large intestine
D)Small intestine

B)aEr 3id
D)BIEr 31

Your Response : D (Wrong)

Question No. 24
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Mark the right statement:
(i) Coprime numbers must be both prime always.

(i) Of two coprime numbers one is prime and the other is composite always.
(iii) Coprime numbers are twin primes.

(iv) Two consecutive integers are always coprime.

A)Statement (iii) only B)Statement (iv) only
C)Statement (i) only D)Statement (ii) only

TE FAT H T FE:

(i) 3rEateTsT WEamsit & & Ql g 3PSy g TRl
(ii) oY IruEIIS WEARH 7 F U I W& B § N qEdr weT WY WeAr g g

(iii) ITEIHATST WEAT JooT AT AT greir g1

(iv) 3 FARIT UIF FFRMT IFAEHAGT 8 ¢

A)Fdd FUA (iii) B)%had U (iv)

C)dhad U (i) D)shdel HUT (ii)

Answer Key : B Your Response : A (Wrong)

Question No. 25
Find the least number which when doubled will be exactly divisible by 12, 16, 18, 21 and 28.
A)1008 B)336
C)19940 D)504

T O ¥ B T AT AT, Oy A A W W W 12, 16, 18, 21 3K 28 & quidEr Rsrew
goul

A)1008 B)336
C)19940 D)504
Answer Key : D Your Response : A (Wrong)

Question No. 26

NASA spacecraft LADEE confirmed the presence of gas in Moon's atmosphere.

A)Krypton B)Xenon

C)Neon D)Radon

NASA ¥ 3fafer T LADEE & dgelr & arpiser of 3w fr suidafer fir gic
A)fsrcesT B)SistieT

C)fieT D)EieT

Answer Key : C Your Response : C (Correct)

Top
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A ftrain takes 2 hours less for a journey of 300 km by increasing its speed by 5 km/h. What is its normal
speed?

A)30 km/h B)25 km/h

C)20 km/h D)35 km/h

T Yemsr #r G F 5 Refveer fr gy e W S 300 R A qf @ W F 2 W For wHT O B
I WAL I AT hfSe|

A)30 /e B)25 frsfieer
C)20 Tereft/eer D)35 ferai/aer
Answer Key : B Your Response : B (Correct)

Question No. 28

Ravi starts walking towards north. After walking 15 m, he turns towards south . After walking 20 m, he tumns
towards east and walks 10 m. He then turms towards north and walks 5 m. How far and in which direction is

he from his starting point?
A)10 m, west B)10 m, north
C)10 m, south D)10 m, east

W 3R R T YE A §1 15 AR T F 1€, gg ST i AR} F{Fr ¥l 20 AT oA F G, T
9 #r 3R qgar § AR 10 AT Forar § A g7 SR A AW Fq3ar § 3R 5 e g P 97 9w IS

fig ¥ Rreelr a7 3 Rrw R 3% &7

A)10 Frex, afXas B)10 #ex, 3ca

C)10 #Hiex, gfayor D)10 #Hrey, qd

Answer Key : D Your Response : D (Correct)

Question No. 29
The breadth of a rectangular field is 60% of its length. If the perimeter of the field is 800 m, what is the area of
the field?
A)40000 m? B)18750 m?
C)37500 m? D)48000 m?

T ISR AT I =g s Jas F1 60% §1 IR AT F1 aRAT 800 #Hex &, ar Aewer Fr &Twer AT
E2y

A)40000 #Hrex? B)18750 #Hrex?
C)37500 #Hrex? D)48000 #Hrex?
Answer Key : C Your Response : C (Correct)

Question No. 30

The process in which acids and bases react to form salts and water is called reaction.
A)Sublimation B)Neutralisation

C)Halogenation D)Hydrogenation

ag Uik, et 3wer 3R e AfARRT =& Faor 3R S T § AR Fgerh §1
A) FEdardeT B)3eriteienor

C)gellsteiienoT D)gTEgISTei 10T

Answer Key : B Your Response : D (Wrong)
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P and Q can do a piece of work in 40 days. Q and R can do it in 120 days. Q alone could finish it in 180 days.
In how many days will P and R working together finish the work?

A)35 B)50

C)25 D)45

P 3R Q @& F# Fr 40 &l F qu & w6 §1 Q 3R R 5 120 & & qr # ¥ §1 Q Iwver 30 180
Rt #% g wwar §1 P 3R R R 5@ fraer Ret F qr #6

A)35 B)50
C)25 D)45
Answer Key : D Your Response : D (Correct)

Question No. 32
The optician prescribes a corrective lens of power +2.5D. What does this mean?
A)The lens is a combo of 2 concave lenses, withB)The lens is convex with power 2D
powers 2D and 0.5 D
C)The lens is a combo of 2 convex lenses, withD)The lens is concave with power 2.5D
powers 2D and 0.5D

3iifeeRger, +2.5D &HaT arer AR o7 (corrective lens) & Y31 &ar ¢l S&aT ar 31 87

A)el, 2 add o H TAS g, STl &TAdN 2DB)ei 2D &TAdT arell 3cdd o gl
3R 0.5D &l

C)olH, 2 3cdd o &I AN §, Toeiehl &fAard 2DD)eid 2.5D &fHT aTell 3iadel o ol
3R 0.5D &1

Answer Key : C Your Response : B (Wrong)

Question No. 33
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) Some towns are cities.
2) All cities are homes.

Conclusions:
|. Some towns are homes.
Il. Some homes are cities.

A)Only conclusion Il follows B)Neither conclusion | nor Il follows
C)Only conclusion | follows D)Both conclusions | and |l follow
Top
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39 WA #, & FEt & a5 & Trewd Re aw §1 37 Peawd(sh) @ g, S arffe w1 @ wdifte sage

Y.
1) T& F6 X A &

2) wsfr e} W §

forsn:
. F& F W §

Il. $& =R AR F
Ayrae fashy ||l 3uged gl B)aT ar faseny | 3 7 & sy Il 3ugerd &
C)ahaer sy | 3UgeF B D)fesey | 3R Il St &1 39T &

Answer Key : D Your Response : D (Correct)

Question No. 34

Two boys A and B start from the opposite direction of 14 km apart. A is facing east and B is facing west. A
reaches the distance of 5 km towards east and B reaches a distance of 2 km towards west. What is the

distance between the two boys?
A)9 km B)11 km
C)5 km D)7 km

ARHFAMNMB UFAAPIRWTRM AT FE I AT R AN P A gr kB
ufteer 3R e B §U §1 A GF Hr 3R 5 Rl Fr g a7 war § i B uftmr #r 3w 2 Rl fr g
T Fr gl o At agHt F o A gfr R 82

A)9 el B)11 frer
C)5 et D)7 fFafr
Answer Key : D Your Response : D (Correct)

Question No. 35

Product of two proper fractions is .
A)Sometimes greater and sometimes less than eitherB)Always greater than either of the fractions

fraction
C)Always less than either of the fractions D)Greater than the product of their reciprocals
ar 3T =il T JUETHT e 81

AR off t& e & Fof-Fel 31f8® 3R FaT-FeliB) g Bear &7 & 5T off v ¥ 30w
Eoren
C)gae Feail & & fondl off T & &F D)3t cgcshl & IUTAhe & 3t

Answer Key : C Your Response : C (Correct)

Top
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Choose from the alternatives the figure that best completes the
pattern given below.

U

A) B)

C) D)

fgw aIv Reredl 7 & 97 HWpla g4, S ARr R e ST o s

Gl
I
1 T
A) . B)
0 D)
| |
Answer Key : A Your Response : A (Correct)

Question No. 37
Which leader said "Swarajya is my birthright and | shall have it'?
A)Bal Gangadhar Tilak B)Motilal Nehru
C)Bipin Chandra Pal D)Jawaharlal Nehru

TR 391 A 99 Uge Uz H§ e B9 3¢ 9g W Adr o FUa §7

A)STe IRMER e B)ArdIeTTel Ag®
C)[fter g drer D)STaTeIalTel #Ig®
Answer Key : A Your Response : A (Correct)

Question No. 38

Top
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In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All dogs are bats.
2) All bats are cats.

Conclusions:

|. Some dogs are not cats.

Il. Some cats are dogs.

A)Neither conclusion | nor Il follows B)Only conclusion | follows
C)Only conclusion Il follows D)Both conclusions | and |l follow

30 W A, o Tt & ag o e Rw v §1 3o () Fr O, S e w7 & weifts sagEa @

1) Tl X TAES Tl

2) wsfr Temes fafeerr &1

s

. 75 T Rfcaar gt &

Il. ¥ Rt g §

AT ar ey | AR & & s 1| 3uged g B)der sy | 3uged Bl
C)Fad foray Il 3T F D)fersey | 3 11 & & 3ugea §
Answer Key : C Your Response : C (Correct)

Question No. 39
Anitha walked 100 m from point A and turned right to cover 45 m. Again she tumned right and walked 100 m to
reach point B. What is the distance between the point A and B?
A)35m B)100 m
C)45m D)50 m

3reftar, fig A & 100 #eX =elr 3R ard Az 45 ey =elrl @7 AR ¥ a1 3R 39 3R 100 AR Tow fig
B W wgehl g A 3K B & o fir gft fRrcer §7

A)35 FHiex B)100 #rex
C)45 #Hiex D)50 #Hrex
Answer Key : C Your Response : C (Correct)
Question No. 40 Top
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Two articles cost Rs.2500 each. One is sold at 5% profit. On the whole if there is 20% profit, what is the
percentage profit on selling the other article?

A)35% B)30%

C)20% D)25%

ar awgit et YT F FT H{eT $.2500 T UF F 5% W G AT AT §1 IR Fo AAFC 20% F A
T3 &Y, o 3o oY ol 1 TG T gem wioRid & T hifsiel

A)35% B)30%
C)20% D)25%
Answer Key : A Your Response : C (Wrong)

Question No. 41

Find the greatest among these fractions.

5/6, 6/11, 2/3, 8/9, 6/7

A)6/7 B)8/9
C)2/3 D)5/6

PAfREd 7 ¥ T9d 9 B FF 71T fiw)

5/6, 6/11, 2/3, 8/9, 6/7

A)6/7 B)8/9
C)2/3 D)5/6
Answer Key : B Your Response : A (Wrong)

Question No. 42
If the length of a wire is doubled by taking more of wire, what happens to its resistance?
A)Gets halved B)Gets decreased
C)Remains unaffected D)Gets doubled

iy frelr AR fr oiarg 3R AF ar & Shsar ¥ Sepelr g Sl @, & 38F WK W R yeE geme

A) 3T g1 ST B)&& & SITem
C)39HTaa Tgamm D)ele[=IT & Siraan
Answer Key : D Your Response : C (Wrong)

Question No. 43

Graafian follicles are characteristically found in the -

A)Testis of mammals B)Ovary of frog

C)Ovary of mammals D)Thyroid of mammals

A ge (MRATT Piffhen) R # qre S §1

A)TATTRET & gwor B)#es & s
C)FATenRAT & 38R D)EaETRAT & ARNIES
Answer Key : C Your Response : Not Answered

Question No. 44
Top




Simplify: 1 i,i
A) B)
2(1++2) 1242
C) D)
-(2+J§) 2+2
YT BT
: 1_\/5
A) B)
2(1++2) 1-242
0) D)
- (2+\/§) 2+.2
Answer Key : A Your Response : A (Correct)

Question No. 45

One Pascal (Pa) equals which of the following?
A)Newton metre squared N m? B)Newton per metre squared N / m?
C)Newton metre N m D)Newton per metre N/ m

TH UYRFel (Pa) Pfaf@d F ¥ fras R giar 87

A)7gesT HieX IohaT N m? B)wfa #iex =geet a1 N / m?
C)=gee #HleX N m D)egeet 9fd #lcT N/ m
Answer Key : B Your Response : B (Correct)

Question No. 46

How do bats navigate and locate its food in dark?

A)They give some peculiar sound for tracking B)They use their eyes

C)They send and track some infrasonic signals D)They send high pitched ultrasonic squeaks which
reflect on hitting any obstacle

TGS IOY F PR THR R & qar wener § 30T 3rver s Qe #7 Top
A R & T S T




C) FT AT Thd Aot ¢ AR 3w FoT aar §1 D) 3= = arelr Wsew 9@ (squeaks) e ¢,
S foRedt off amem ¥ T Wrafdd gidr §1

Answer Key : D Your Response : D (Correct)

Question No. 47

Find the ODD one out from the given options.

A) B) !
(]
— 3
o D)
> “«—
L]
1
T a1v Repedl F & WA H A
A) B) 1
¥
—++ >
c) N D)
> -
]
1
Answer Key : B Your Response : B (Correct)

Question No. 48
What are the two most common materials used to make wires for electricity transmission?
A)Nichrome and constantan B)Manganin and constantan
C)Copper and aluminium D)Tungsten and manganin

Riege HTT & T @Y O AR & T R T 3 39T R ST AT o Tad e @ 82

A)TTSHIH AR Fedcecs B)#Hurfae 3R FedcecaT
C)disT 3R TegHifer# D)eareea 3R Harfaer
Answer Key : C Your Response : C (Correct)

Question No. 49

Which of the following issues create(s) threat to the public health?

A)Pollution, water scarcity and overpopulation B)Pollution Top

C)Water scarcity [



AT & ¥ 7 & TN adee TR % AT GRT ST W §7

A)UEHUT, Tl & AT 3N ATt STeTaeE B) Sreor
C)urelt Hr waT D)3rcafle SaaEan
Answer Key : A Your Response : B (Wrong)

Question No. 50
Ravi sold two bicycles at the same price, but gained 20% on one and on the other bicycle lost 20%. Find his
profit or loss in the transaction involved.
A)Gain of 10% B)Loss of 20%
C)Loss of 4% D)Gain of 20%

MW A o AP TAE Hpd W A, AfeT 30 T FRfRA W 20% F A g3 AR qEl WEfhe W 20%
#r g §81 59 AT H §§ 3R A W g AT HiSw

A)10% T 9 B)20% & gifer
C)4% &1 gifer D)20% T ereT
Answer Key : C Your Response : C (Correct)

Question No. 51

Natrium is the Latin name of

A)Nitrogen B)Sulphur

C)Neon D)Sodium

AR T AfeeT A9 B

A)TSEISTe B)dew

C)f¥3iTeT D)3

Answer Key : D Your Response : D (Correct)

Question No. 52
With which of these games is the term 'checkmate’ associated?
A)Chines Checkers B)Chess
C)Snakes and Ladders D)Ludo

AT e ST A R A @ Hefa 87

INEIGIRCET:] B) eTeRaT
C)@Ta-rér D)eer
Answer Key : B Your Response : B (Correct)

Question No. 53
In which of the following states of India is the Shevaroy Hills located?
A)Andhra Pradesh B)Tamil Nadu
C)Rajasthan D)Karnataka

AR Bew, SR F Prfaf@a & ¥ v T ¥ 2w 32

A3y geRr B)df&erag
C)TSTEdTT D)&eTcedh
Answer Key : B Your Response : Not Answered
Top
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Choose the pair which shows the same relationship as in pair given below.

ABD : EGH
A)IJL : MOP B)GHJ : KLN
C)OPR : UTY D)IKL : NRT

3 oA A gof o S R v o & wAe Way i §

ABD : EGH

A)IJL : MOP B)GFH : IPR

C)OPR : UTY D)IKL : NRT

Answer Key : A Your Response : A (Correct)

Question No. 55

Although metals form basic oxides, which of the following metals form an amphoteric oxide?

A)Na B)AI
C)Cu D)Ca

e gy e siiarss derehr §, R o feafaf@a F & @l o arg v st sifarss g §7

A)Na B)Al
C)Cu D)Ca
Answer Key : B Your Response : B (Correct)

Question No. 56

Arsenious sulphide sol is an example of-

A)Colloids B)Suspension

C)Solution D)Solids

IARAF Fewrge Tiel T TH 3G &

A)FIeEs B)feeiere (Suspension)
C)Rerget Dyara

Answer Key : A Your Response : Not Answered

Question No. 57

Electron revolves around nucleus in orbits which have-

A)Infinite energy B)Variable energy

C)Fixed energy D)No energy

Sl i & IRf AN FeRit Fgwar @, Bt &l 81

A) AT ol B) 3Tel3T-37e19T il

C)fer 3t D)#I$ Fsir =Tl gielr

Answer Key : C Your Response : C (Correct)

Question No. 58

Simplify: 4.54 x 0.99

A)4.5 B)4.4946
D44 946
C14.04946 [ et A s e e R e Wk -;m'%‘

Top



A Y : 454 x 0.99

A)4.5 B)4.4946
C)4.04946 D)44.946
Answer Key : B Your Response : B (Correct)

Question No. 59
The sum of the squared deviations of a set of value is least if measured from
A)Arithmetic mean B)Mode
C)Standard deviation D)Median

AET & TF GHE & 9o 99t (squared deviations) T AXT S BT 8, Al 5

A)FHATTT HTEY B)sgereh
C)ATw et D)#TTETehT
Answer Key : A Your Response : C (Wrong)

Question No. 60

¥ AT T §

If in a certain code, 'il be pee' means 'roses are blue', 'sik hee' means 'red flowers' and 'pee mit hee' means

'flowers are vegetables', then which of the following means 'roses' in that code?
A)Cannot be determined B)be
Cil D)sik

Ife FFer Festmar #, il be pee' F AW ‘roses are blue' ¥, 'sik hee' FT HAURT 'red flowers' ¥ 3K 'pee
mit hee' & HRAWRT ‘flowers are vegetables' &, af 3 Feomw F Pfaf@a F & Frwwr FfEATT ‘roses’

g

A) TR FIgT foRam ST Fehar B)be

Q)il D)sik

Answer Key : A Your Response : A (Correct)

Question No. 61

Chemically, rust is-

A)Ferric chloride B)Ferric bromide

C)Ferric sulphide D)Hydrated ferric oxide
TS & &, ST 3491 87

A) SR FeiRES B) R sTES

C)hR& HeHIZS D)gls3cs %Re 3iearss
Answer Key : D Your Response : D (Correct)

Question No. 62

Bleeding gums is associated with-

A)Astigmatism B)Scurvy

C)Kwashiorkor D)Rickets

Fget # T 3 ¥ weftra g &l

AzfecdsrT B)¥ahdf

C)FaiRIRSR D)g@r T

Answer Key : B Your Response : B (Correct)
s SRESE L e e R R s Shaol] W/
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If each side of a cube becomes three times of itself, then its volume of its original volume.
A)Becomes 3 times B)Becomes 9 times
C)Becomes 27 times D)Becomes 2 times

Iy BREY a1 A TAF ST H S et I qor & S § A FHH A, IRAAS AT HT
|

A)3 [T 8 ST B)9 [T & ST &
C)27 T & SifeTl & D)2 [T g el ¥
Answer Key : C Your Response : C (Correct)

Question No. 64
Simplify: 1/(sec 6 - tan 8)
A)sec? 0 -tan? 6 B)cos 6 + sin 6

C)sec O +tan 6 D)cosec 6 - cot 8

W ST 1/(sec 6 - tan 0)

A)sec? 6 - tan? 0 B)cos © + sin ©
C)sec 6 + tan 6 D)cosec 6 - cot 6
Answer Key : C Your Response : Not Answered

Question No. 65
The ratio of salaries of P and Q last year is 4 : 5. The ratio of last year salary and the present salary of P is 3 :
5 and for Q this ratio is 2 : 3.
If their total salary at present is Rs. 6800, what is salary of Q ?
A)Rs.2700 B)Rs.3200
C)Rs.4200 D)Rs.3600

R af P 3k Q & A7 7 AT 45 &1 P & R a§ & ot 3R a3 daer # g 3:5 ¥ ik Q
¥ fAT IF AT 2:3 §1 AR TAAET F 3R Feor AT 3.6800 &, Q FT AT AT Ao

A)%.2700 B)%.3200
C)%.4200 D)%.3600
Answer Key : D Your Response : Not Answered

Question No. 66

Ethyl alcohol is used as a/an-

A)AIl of the options B)Alcoholic beverage
C)Solvent D)Fuel in spirit lamps

SUISS 3CHIgS I IIANET F w1 7 fFar ST g

A)gTd & welr B)Tehlgel Id 39 qerd
C)faemras D)fuRe v & sua

Answer Key : A Your Response : A (Correct)

Question No. 67
The difference between Simple Interest and Compound Interest for 2 years on a certain sum at the rate of 4%
per annum is Rs.8. Find the sum.
A)Rs.8000 B)Rs.5000

C)Rs.4000 — D)Rs 10000 Top

s 0 o ]

RSN el 1 P S P nitle




Rl eI T 4% I T & 2 9§ W WIS WURYT A AR Thqfe sasT & o &7 3] .8 §1 98 IR
AT F

A)%.8000 B)%.5000
C)%.4000 D)%.10000
Answer Key : B Your Response : Not Answered

Question No. 68

"Phulkari” is a famous embroidery of which state of India?

A)Madhya Pradesh B)Punjab

C)Uttar Pradesh D)Rajasthan

"FAFN" ARG F FE Tew A WG FS 87

A)FET yeer B)gsTa

C)3caR weer D)IrsTETe

Answer Key : B Your Response : Not Answered

Question No. 69

Find the ODD one out from the given options.

A)Mathematics B)Chemistry

C)Library D)Physics

R T Redt 3 ¥ T B

A)ITToTaT B)Tar= =

C)qEchrerd D)#ifas faame

Answer Key : C Your Response : C (Correct)

Question No. 70
P and Q jog along a circular track of 400 m in opposite directions from the same starting point starting
together, with speeds 10 m/s and 40 m/s. Whenever they meet, P's speed is doubled and Q's speed is
halved. After what time from start, will they meet for the third time?
A)28 seconds B)36 seconds
C)26 seconds D)18 seconds

P 3K Q, T & 3T Rig ¥ Rl fermsi 3F 400 e & FeaPR ART W, 10 AeAFs 3R 40 AeAFs
& o ¥ disa &1 ST o & Frent € P A 9 Qe @ Sk § 3tk Q fr aver 3medr @ Siwelr 21 s 4F e
¥ e T & a1g, F A IR FeE?

A)28 ¥ B)36 ds
C)26 %S D)18 Aehs
Answer Key : C Your Response : Not Answered

Question No. 71

The increase in oil production is due to-

A)Green Revolution B)Yellow Revolution

C)Brown Revolution D)White Revolution

o 3edreeT ¥ gfe ST T FROT §7

AR hifel B)drelr sifcr

LS R— i Rz R, Top




Answer Key : B Your Response : Not Answered

Question No. 72

Five years ago, the average age of a couple was 24. At present, the average of the couple and a child is 20.

What is the child's age?
A)3 years B)4 years
C)2 years D)1 year

uiT 9 e, U S A e g 24 A T &, S 3R v g fr Iy ke 60 @1 = fr g

et 2

A)3 a¥ B)4 Ty

C)2 a¥ D)1 a¥

Answer Key : C Your Response : Not Answered

Question No. 73
With which of the following sports is the 'Rohinton Baria Trophy' associated?
A)Basketball B)Hockey
C)Cricket D)Football

Afieer aftar 6 B F & e Q9 ¥ ddfta §72

A)STEhesiol B)gTehr
C)fshehe D)pesiier
Answer Key : C Your Response : Not Answered

Question No. 74
Mark the true statement:

i) There are only two primes that are consecutive positive integers.

ii) For every positive primes, there is a corresponding negative prime.

iii) Sum of two primes is always even
iv) Coprime numbers are always prime numbers.

A)Statement (i) only B)Statements (ii) and (iv) only
C)Statement (i) only D)Statement (iii) only
[ et P e oo gl ./
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A FYT FT I

) Faer Y AT WEAT § S FARIT UelicHF qUIlF ¢l

(i) TP GAIHS AT HEAT T U I HVNHS ST HE&AT g ¢l
(iii) &Y 3reTS WEUTET T AT FHAT FA Fewm B

(iv) TEHIST HEAIT TARMT ST HEAY g &1

A)shad HU (i) B)hder & (i) 3R (iv)
C)W HYeT (i) D)aﬁﬂ' ST (iii)
Answer Key: C Your Response : C (Correct)

Question No. 75

Bacteria that can grow and produce lethal toxins even inside the refrigerator are -

A)Escherichia Coli B)Salmonellae

C)Clostridium Botulinum D)Streptococcus Faecalis

Shary, Sir R ¥ 3ieT off uraw fawre yerd # 3cnw @ ReRa W e §, @ g
A) TR R, Fremg B)@ATedTTelm

C)FAEASAA dicelgatr D)Feeeihihd hhiord

Answer Key : C Your Response : Not Answered

Question No. 76
Compare static friction and sliding friction.
A)Sliding friction is equal to the static friction B)Sliding friction is slightly smaller than the static
friction
C)Sliding friction is slightly greater than the staticD)Sliding friction is abnormally greater than the static

friction friction

e ot 3R wdt efor (sliding friction) #r e FYI

A)Tdl T¥oT R gvur F R BT 7l B)gdt a¥ur Tfas avor & AT A BT B

C)adt evor Tfae avor & AT IHAE gar gl D)adf avor ARy & ¥ &faw avor @ 31f¥e gar
gl

Answer Key : B Your Response : B (Correct)

Question No. 77

Plants respire through-

A)Roots B)Stomata
C)Stem D)Flower
dier & ALYA A @HT A gl

A)STS

Top
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Answer Key : B Your Response : B (Correct)

Question No. 78

Who among the following released the book 'Sabka Saath Sabka Vikas' in March 2019?

A)Sushma Swaraj B)Arun Jaitley
C)Rajnath Singh D)Ravi Shankar Prasad

AR 2019 ¥ " WY FoH AW AH7F s F A Hfaf@a F & fraer e

A)GYIHAT FaTsT B) 31¥0T Sicall
C)TSIy &g D)faeie gdTE
Answer Key : B Your Response : D (Wrong)

Question No. 79
What Simple Interest is eamed on a sum of Rs. 5700 at 12% rate in 1.5 years?
A)Rs.1400 B)Rs.1026
C)Rs.1820 D)Rs.1070

%.5700 fr TR W 12% A T A 1.5 9§ F Yo AYRYT sA1 AT RfSw?

A)%.1400 B)%.1026
C)%.1820 D)%.1070
Answer Key : B Your Response : B (Correct)

Question No. 80

Which of the following will best complete the relationship given below?

AFl:M:ABA:?
A)O B)L
C)J D)K

fAfaf@a 3 F i a1 A Re o1o weer i wefeas dor F qoF Fem?

AFl : M :: ABA:?

A)O B)L
C)J D)K
Answer Key : D Your Response : Not Answered

Question No. 81
What is the outer ear called?
A)Auditory nerve B)Pinna
C)Cochlea D)Ear drum

T Fof (outer ear) R Fgar &2

INECHEGIEED B) sofarfer
C)ifFerar D)=l FT 9aT
Answer Key : B Your Response : B (Correct)

e a0l Y/
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ASTRO-H was an X-ray astronomy satellite launched by-

A)lndia B)Japan

C)Australia D)USA

ASTRO-H TART dlied T IR U TeY @il ST 39 ol
A)HART B)Smaret

C)3iteeTorar D)USA

Answer Key : B Your Response : D (Wrong)

Question No. 83
Which celestial body twinkies in the night sky?
A)Jupiter B)Mars
C)Moon D)Star

FieT T AT RE, T & TAT 1T 3§ THRT &2

A)geEafa B)#HaTeT
C)dig D)arT
Answer Key : D Your Response : D (Correct)

Question No. 84

How many lines are there in the given figure?

&1 75 THTa A Fhasir Y@ 87

Top

[ e e e S L L] 2. 0



A) B)

12
17
C) D)
8
21
Answer Key : B Your Response : C (Wrong)

Question No. 85
What is the normal temperature of a human body?
A)96.7° F B)94.8° F
C)98.6° F D)100° F

AT R FT AT a9 F1 &7

A)96.7°F B)94.8°F
C)98.6°F D)100°F
Answer Key : C Your Response : B (Wrong)

Question No. 86
Which of the following indicators can be used by visually impaired student?
A)Vanilla B)Petunia leaves
C)Turmeric D)Litmus

i@ F @ Fio o guew, TReafta oF G@RT 39EeT R ST wr 82

A)aaiter B)gferar & ged
Cgeer D)foresa
Answer Key : A Your Response : C (Wrong)

Question No. 87
Who was invited by Lord Wavell to form the interim Government in India in 19467
A)Jawaharlal Nehru B)C. Rajagopalachari
C)Vallabhbhai Patel D)Rajendra Prasad

1946 F AR ¥ HARFT WFR Tt & AT & Aqar o R IwAfa fran?

A) SRR Ag® B)C. ITSTeNITeTaRy
C)ToalsTeNs qeor D)eirg YIS
Answer Key : A Your Response : Not Answered

Question No. 88

Choose the figure that best represents the relationship among the
classes given below.
State, Continent, District, Country

A) B)

oo - E—— (4 o —— TS ey S— e T /
I e e T S S 00 S 0] _'.;W /
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) D)

O

3 HGId & 994 wY, A FAraaila AU & T F dew @
mﬁm@ﬁrﬁam‘cﬁa’n
T, Agream, forem, o

A) B)
O ©
C) D)
Answer Key : D Your Response : D (Correct)

Question No. 89

What is formed when ethanol reacts with ethanoic acid on warming in the presence of a few drops of

concentrated sulphuric acid?
A)Ethene B)Ester
C)Ethane D)Sodium ethoxide

S Wew WORIRF 3 f Fo gl A 39RUfy ¥ W For W wdela, wdesE s & A SRR e
&, o = SeFar 87

A)gfia B)w¥eX
C)Eda D)afeTs S$eFarss
Answer Key : B Your Response : Not Answered

Question No. 90

Fix the symbols +, -, x, + appropriately in the box to fit the equation given here.

501o03o05=20
A)-, X, X B)-, +, -
C)x, x, - D)=, +, x

g BT 1w wiEor F Ggfoa w0 F e vt + -, x, + 7 8 S ¥ waitya w0

501o03056=20
A)-, X, X B)-, +, -

C)X1 Xa = D)+v +1 X Top
(S e e T e B ]




Answer Key : D

Find the wrong number in the given series.

18, 24, 36, 60, 110, 204
A)110
C)24

& 715 Aofr F ST "@E AT fifSwl

18, 24, 36, 60, 110, 204
A)110

C)24

Answer Key : A

Your Response : D (Correct)

Question No. 91

B)18
D)204

B)18
D)204

Your Response : Not Answered

Question No. 92

2sin" a+3cos a

If cosec a = +/2 , evaluate

A)

5/6

)

5/3

cosec” a+cot a |

B)

5/12

D)

9]
A
L3

2sin” a+3 cos”
ﬂﬂ'cosecu=\/§%’,'ﬂ}r s ¢ cosaa?rmﬁmﬁ%m

cosec ateot a

A)

5/6

)

5/3

Answer Key : A

B)

5/12

D)

Top



Which of the following High Courts has the largest jurisdiction in the country?
A)Allahabad High Court B)Gauhati High Court
C)Bombay High Court D)Calcutta High Court

& & T #F ¥ v 35T R # AN0ER Wed 997 87

A)SdTgIdle 3Td «ar—-Tad B)?@'@T?_“ro 3= AT
C)#as 3Td Tl D)shelercdl 3T I ATl
Answer Key : B Your Response : C (Wrong)

Question No. 94
If 'Sky' is called 'Sea', 'Sea' is called 'Water', "Water' is called 'Air', 'Air' is called 'Cloud' and 'Cloud' is called
'River, then what do we drink when thirsty?
A)Water B)Sky
C)Air D)Sea

I 'R B W FET SNA ¢, WHF B Sl FT K §, S B GAr Fel ST §, TG B GGA Far
e & 3R areer Y A FEr ST §, A QI e WOEH 1 9§72

A)STer B) 3TTehTer
C)gar D)&#a
Answer Key : C Your Response : C (Correct)

Question No. 95
In a certain code language, 'pat zoo sim' means 'eat good mangoes', 'pus sim tim' means 'mangoes and
sweets' and 'tim zoo kit' means 'purchase good sweets’. Which word in that language means "eat'?
A)pus B)tim
C)sim D)pat

ey fafReer s #, ‘pat zoo sim' T IFAWRT ‘eat good mangoes' ¥, 'pus sim tim' T 3if39Rr 'mangoes
and sweets' g, 3R 'tim zoo kit T 3IAURT 'purchase good sweets' §1 37 T 3 fF 2sg T AAUT 'eat’
&

A)pus B)tim
C)sim D)pat
Answer Key : D Your Response : D (Correct)

Question No. 96

Which of these is a perfect square?

A)9013 B)9887

C)9801 D)9016

w0t & ST A g o 2

A)9013 B)9887

C)9801 D)9016

Answer Key : C Your Response : C (Correct)

Question No. 97
If '+ means -, - means '+, X' means '+ and '+' means X', then 5-5+5+5x5=7
A)26 B)25

C)20 D)5
) A e =wi = e O 8 ol W/
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IR FITVE CHFITHE X FITHEIR T I XY, AE-5+5+5x5="7

A)26 B)25
C)20 D)5
Answer Key : D Your Response : D (Correct)

Question No. 98
Three persons have their ages in the ratio 4 : 7 : 9. Eight years back their total age was 56. How old is the
eldest now?
A)42 B)36
C)28 D)32

T AfFat A I AT 4:7:9 ¥ IS TY YA, IR Tl Y 56 | A 9 ;T A T Y
e &7

A)42 B)36
C)28 D)32
Answer Key : B Your Response : Not Answered

Question No. 99

To monitor the foetal growth, the latest technique of is used.

A)Chemotherapy B)Ultrasonics

C)CAT Scan D)Eudiometry

o1 & R fr eREr we F R, Y STITCHRT Tehelles T AT T ST 81
A)FATIRIY B) 3regrdiiele

C)CAT T&hat B)RIERIE ]

Answer Key : B Your Response : Not Answered

Question No. 100

Read the following information carefully and answer the question given below.

Seven friends— A, B, C, D, E, F and G like different colours—red, blue, white, pink, green, black and yellow,
but not necessarily in the same order. They all have different hobbies (or they like different activities) singing,
drawing, reading, cooking, painting, dancing and fishing, but not necessarily in the same order.

The hobby of D is singing. The one whose hobby is cooking likes pink colour. A likes yellow colour. The one
whose hobby is fishing likes green colour. The hobby of F is reading. Neither D nor F likes black colour. The
one whose hobby is dancing, and drawing does not like black colour. The hobby of A is not drawing. The one
whose hobby is drawing does not like red and white colour; D does not like red colour. The hobby of E is
neither painting nor cooking. E does not like green colour. G does not like green and black colour. The hobby
of B is not fishing.

Who among the following likes pink colour?

A)C B)E
C)G D)B

Top




AT SFFE FF Sae & 9§ 3R A RBe 91w 9o Fr 3R &

W &rel- A, B, C, D, E, F 3R G &t 31131601 1, 39- A, oo, |, @, &1, Fen 3R g, w6
€, AfheT S 78 fF W FH F @ 3T Tl Fr reerarenr eitE § (AT 3 R AR wig §),
A - T, R, 9Ge, W e, 9T, Jor vd ASel gase, AfFer S wdt fF 3 e oF &

D @ o Fr 2l &1 O G Faer Fr Al §, 3 e v g6 §1 A B drer 1 g6 g1 e Aol
g o Qi &, 3q & T W &1 F 9 g @ el §1 D 3R F, &t A & Fem 1 wig At 1 By
F 1 ol §, 3R O Rl a7 ol &, 37 Fon 1 wig @ ¥ A A Rl @ odlw A 3 R
el e g, S Ta 3R T T R E DR AT TT g At g ERadr iR wmaka &
TT g F Qi &1 E &7 &1 Wig A8t &1 G Fr & AR e 1 wig A€t #1 B F edin ASer Tohew
e gl

PR 3 & R ot T Tig 82
A)C B)E
C)G D)B

Answer Key : C Your Response : Not Answered
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